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PART-1: GENERALENGLISH

What made the people think the Potter was humble?

(1) Hebowed to all the people

(2) He walked to the palace without climbing the horse
(3) He obeyed the tiger

(4) Heliked to be the general of the Army

Will you try out this problem for me? (Identify the éxpression) :
(1) givingpermission = (2) seeking permission -
(3) seekinghelp - (4) suggestion

Mrs. Slater was a Vigorous woman with straight talking.
What is the part of speech of the underlined word?

(1) Noun (2) Adverb
(3) Preposition , (4) Adjective

‘What was the transformation brought by Wangari Maathai in women?
(1) Shetaught them to collect wood in the forest.

(2) She provided all the basic needs for them. -

(3) Shemade the women feel confident and indep endent

 (4) Sheinvolved them in war and conflict.

What did Roberge find in ray when he refused to spoil the reputation of the culpfit?

(1) humane concem . (2) aggressive approach

(3) intimidating _ (4) hatred and discontent,

“When Gopal | (reach) the temple,-it __(be) filled with devotees.
(1) reached, is (2) reached, had been

(3) reach, was _ | (4) reached, be

Ganesh plays cricket. He plays chess too.

(Combine the sentences with ‘not only-but also”)

(1)  Ganesh plays not only cricket but also he plays chess.
(2) Ganesh plays not only cricket but chess also.

(3) Ganesh plays not enly cricket but also chess.

(4) Ganesh likes cricket not only, but also he plays chess.
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8. Which arethe ‘Alliteratives’ among the following.
a)  easy-peasy ' ' - b) mish-mash o
c) helter-skelter ' -d) ting-tong o . -
M) @0 @ ©..@ @) (dadd) (%) (c)and(d)

9. Why was the young teacher summoned by Lakshmana Sastry?
- (1) - The young teachér was new to school.
(2) Because he wanted to see the young teacher. : _
(3) Because the young teacher tried to poison the minds of children on religious differences.
(4) Because the young teacher did not have accommodation in the village.

10. Howdowestarta letter in ‘ALETTER TO AFRIEND”? N S
(1) Signature  (2) Subscription: (3) Salutation = (4). Station and date

© 11. Youkeep this money. It may be a help for you.
' (Combine using “if’), IR
(1) TIfyoukeep this money, it may be a help for you.
(2) Youkeep this money, if it may be a help for you.
- (3) Ifyoukeep this money, it may not help you.
(4) Ifyouhelp me, keep this money.

12.  Where can I get a few stationery items? (Change into Polite request)
(1) Where is the stationery shop? - :
(2) Please give us some stationery items.
(3) Could you please let me know where I can get a few stationery items?
(4) Getme a few stationery items. '

13. . Which of the following have a concluding remarks in creative expression?
(1), Diary entry : , (2) Aspeech
. (3) Conversation — (4) Alltheabove

14. Identify the correct sentence.
(1) There isn’t enough food for all the invitees.
' (2) Thereisn’t food enough for all the invitees.
(3) There is food for all the enough invitees. .
(4) There is enough food for all the enough invitees.

15. In which of the following letters, is the subject specifically mentioned?
(1) Letter to friend (2) Letter to mother
(3) Letter to uncle (4) Complaint letter -

V-General English 4-E
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16. A biographical sketch is
(1) the life history of one self.
(2) the life history of others.
(3) the history of great kings.
' (4) ' the life history of assassinated personalities.

17. Mrs.Jordanisa “woman. (Choose a right word that fiits to Mrs. Jordan’s character)

(1) complacent  (2) greedy (3) mildandsober (4) (1)and(2)
18.  'What was the threat to Sunday Nana’s village? :
(1) childrenand chickens : (2) poisonogs chemical drums
- (3) skull and cross bones : (4) the chief

19.  Which of the sentences given below is defining relative clause?
(1) Joy, who could not get a job, felt depressed. . _
(2) The manwhowas selling balloons was very old and weak.
(3) Rajani who lives next door, is a TV artist. |
| (4) Whois the world famous artist?

20. Identify thé sentence that is in Present Perfect tense.
(1) Rupahas passed the test recently. |
(2) They had changed the residence address.
(3) Gowri delivered a wonderful speech.
(4) Children are making noise in the class.

Question No. 21 to 25 : Read the following paSsage and answer the questions. -

There was a small village called Sonam. There was 2 young girl named Ema. Ema [oved to
explore the meadows and woods around her home. Everyday, she would discover new and exciting
things in nature.

One Sunny morning, while Ema was wandering near a stream, she spotted a glimmering
- stone. It was unlike any stone she had seen before, and it filled her with wonder. She decided to
show it to her grandparents who were wise and know about precious gems.

_ ToEma’s surprise, his grandparents revealed that the stone was a rare and valuable gemstone
called a sapphire. Ema’s heart was filled with joy, and she learned that sometimes, the most
precious treasures can be found in the simplest places. :

21. Whatdid Ema discover while wandering near a stream? -
(1) avillage ' ' (2) meadows
(3) nature : (4) glimmering stone
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22. Who revealed the identity of the glimmering stone to Ema?

(i) _grandpareilts (2) parents )] neighbours (4) friends .

23. What did Ema find near the streari? - .
(1) . Asapphire - (2) Apead (3) Aseashell (4) Apcbble

24. What did the grandparents reveal abeut the stone?

(1) Itwasararestone. : (2) Itwasa valuable stone. ’
" (3) Itwasagem stone. ) (4 Alltheabove.:

25. Which word in the passage means ‘to disclose’?. - _
(1) reveal (2) joy . (3) treasure (4) precious

26. What does Lincoln’s life teach us in the lesson

~ “Every success story is also a story of failures’
(1) Success can be achieved only at 52.
(2)  To succeed in life is very difficult.
(3) * Arelentless hard work can give Success.
(4) Failure is not a stepping stone to SUCCESS.

27. Which among the following is an Advice?
(1) Youshould Ii_ot wear helmet while.driving..
(2) You should consult a doctor for your ill health.
(3) Come to my place for entertainment.
(4} Weshould go to school late, shouldn’t we?

28. The crops grew well this year. We are happy with profits.-

' (Combine the sentences using ‘since’)’
(1) Since we are happy with profits, the crops this year grew well.
(2) Since the crops grew well this year, we are happy with profits.
(3) The crops since this year grew well, we h are happy this year.
(4) The crops this year grew well, we are happy since with profits.

29. “] am sorry, I cannot go with you™. (Identify the expression)
(1) Seeking permission - (2) Refusing permission
(3) Expressing inability . (4) . Expressing fear -

V-General English 6-E
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30. Why did the house wife in the lesson ‘What is My Name’ forget her name?
"~ (1) Becauseshe made scrubbing and swabbing as the chief mission in her life.
(2) Because she became busy with her office work.
(3) Because she lost her memory.
(4) Because her husband didn’t like her name.

31. A manwho loves mankind is
(1) Superman (2) Philanthropist
(3) Physicist _ ~ (4) Fatalist

32. Fillin the blank with an indefinite pronoun,

' is perfect in this world.
(1) She =~ (2) Noone"
(3) Myself = | (4) He

33. Change the Voice.
Guru started a new business. _
(I) A newbusiness was started by Guru.
(2) A new business has been started by Guru,
 (3) Guru’s new business was started.
(4) Anew business is being started by Guru.

34.  Use the right Prepositional Phrases. *
bus strike, I will drop my tripto Mysore.

(1) Inspite of (2) Instead of
(3) Incaseof ' (4) According to

35. Ray was an aloof and intimidating person for the outsiders.
(Identify the synonym of the underlined)

(1) frightening : (2) encouraging
(3) intolerate : : (4) intellectual
36. Inthe poem ‘A plea for India’, what was the central theme?
"~ (1) Unending violence (2) Riots
. (3) Proud and Confident - (4) Unity .

V-General English - 7-E
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'37. He _ ' (gitre) an entrence test before he " (join) Air force.
~© (1) hadgive,entered -+ (2) gave,enter '
(3) had given, entered ) -(4) g1ven and entered
- 38,

Savitri was awarded the title ‘Mahanati’ for her _
(1) good number of movies -

_ (2) for her successful direction
- (3) -forher humanity and generosity

(4) for her unbe'atabl_e talent

39.

What was the father’s urge to his son in ‘Once UponATime’ ?

. (1) Father wants to shake hands with friends.

(2) Father wants to releatn how to laugh.

. (3) Father wants to change faces accordlng t0 the situation.

(4) .None of'the above.

40.

Wh1ch isNOT a correct statement about Abel Merry Weather‘7

'( 1) AbelMerry weather stayed some days w1th Amelia and a part of tlme with Ehzabeth.‘

(2) AbelMerry weather announced hlS marriage with John Shorrocks.
(3) Abel Merry weather was dead.

. (4) Abel Merry weather wanted to change his will.

41. Veenais fond music. _ :

(1) to- - (2) of” . 3) by (4) with
42. Thaven’t got 3 apples in my basket. |

(1) some (2) each . - (3) ay (4) every
43. The Government has declared emergency. (Change the voice)

(1) Emergency has been declared by the Government.

' (2) Emergency is declared by the Government.

(3) Emergency is being declared by the Government.
(4) Emergency was declared by the Government.
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44.  Some of the students scored low marks in the Exams; _, the teacher arranged a .
series of remedial classes. :

(1) sothat _ c (2)  because .
(3) in spite of K ' " (4) consequently

| 45. Who influenced Kalam in his childhood that changed his future? .
(1) Ramanatha Sastry ~ (2) SivaSubramanialyer
(3) Youngteacher _ {4) Kalam’s father

46. Narayana Murthy was __ by nature.
(1) selfish ' : | (2) malicious
(3 introvert o (4) timid

47. 'What does the poet wish to convey through the poem ‘Or Will the Dreamer Wake?’
(1) the desire to wake up the human being. | .
(2) thepeople’s reluctance towards the protection of animal world.-

(3) theneed to stop the extinction of animals,
(4) allthe above '

48. What stopped the narrator from carrymg his Iuggage‘?
(1) the narrators education
(2)  the narrators white collar job
(3) the narrators laziness
@) (1yand 2)

49.' | What is the one-word substitute for ‘A hand. written docﬁment".?
(1) manuscript B §2) mandocs
(3) newsitem : (4) monologue

50. The accident sadly resulted . __the death of a man.
1) by ' o (2) to
(3) in _ _ T - (4) into

V-General English =~ | . . 9E
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PART - Il : MATHEMATICS
\ ) . . ‘ .(-‘fz) ) ‘ ) . .
51.  The solution of the equationlog, log, ’|=01s ». (xz) __
' ' - J¥ log, [log4 j=0 I
Qo x=1 @ x=x2 (3) x=4 @) x=%T
5. 1t logx’y" =aandlog=b then OB
: gy
R logx ."log—-—b 3! logxy -a//,
| N | logy - ¥
‘ a_—3b . _ . . a+3b .
(1)~ a+2b \ @ 2
: a+2b .. a=2b
3 ' 4y
3) a-2b ' @ a+3b
53, Which of the following is an itrational number? . S
_ﬁz.yt/éJﬁVdfufJ“ieJﬂ
(1) % | @ 233 NORED 4) . 3.1416
S4. Ifp=2x4x6%..x20and Q=1x3x5x...x 19 then the HCF of P and Qs
QAP FQT X3 XS X X 194 p=2 x4 x 6% .. x 20
M s @ s 0O #s2g @ 38
55. Whlch of the followmg is true, if A= {1, 2; {3, 4} {5}}1?

_a_u;wufuvaym {1 2, 3,4, (5P

1 (B4 cA @) 3cA

/

G aA=5 @) {5} EA.

V-Maths 10-E
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56. Match the following.

2 Gin

p)  A-(BUC) 2)

m
9 (A-BN@A-9) g

#
r) A-(BNC) B c)

m
) (A-B)U(A-C) - - d) |
(1) p—>ﬁ,q-—>b,r—>c,s—+d (2 poagobrodsoc
(3) p—2cq—2er—>as—>a (4 p-oaqgodrocs—ob

57. StatementI: A= {x:xeZand x<5}iga finité set.
Statement I1 : B= {x x c N and x < 1} is a null set.

Choose the correct answer. - ,
(1)  IandII both are true. (2) IandIIboth are false.
(3) Tlistrue,IIis false. = . (4)  lis false, Il is true

_%L{Lﬁl}u‘g A={x:er S x<5) Tk

-‘Lui{dl;ug B={x:xeN»’ x<1}: IT ol

UL T (2) UbleUdIl s 1 (1)
Dbl sl 36T (4) A e i Tlnle_slel  (3)

V-Maths : 11-E
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58. 1fn(A)=15,n(B)=13 and n(ANB)=10 then n[ (AUB)-(ANB)]=_
A[(AUB)—(ANB)]=____ ;_'n(AnB)=1o'JJin(B) ~13(A) = 151
(n 18 2 12 3) 10 .. @ 8 )
59.  If a, B are the zeroes of the polj}nomial p(x) =2+ 3x — 4. Then find a quadratic
polynomial whose zeroes are ol and p2. N
-LJ}’G'BZHI o f‘cﬁf ér:j” UJ:/':’/ (ﬁm;ug....}’q,f )’Lp(x) =x2+ 3x - 4(56/:/ Bl afl
) 22-4x+7 ()  ¥*-3x+7 (3) X~ 17x+16 (4) xX2—16x+17
60. TIfo, P,y arethe zeroes of ax’ + bx? + cx + d. Then match the following. . |
o ' S92l S5 Uny s q}&‘:ax:’ +bhx*+ex+d S
R o a ‘ .
P) -f;+ﬁ+.}’—. . a) 7
11 b
N | —t——t—= ' C —=
) W B e 93
2
S) . _1__1_l= . . d) b -'22(.10
a By . ‘ - a
(1) p-bgodr-es—a 2) p-—>a,q——>b,r—>c,s—-§d
(3 p—>c,q—>a,r—~>d,s-—>b 4) p-—‘)d,q—}_c,r—)a,s——)b
61. If one of the zeroes of x* + ax? + bx + ¢ is =1 then the product of other two zeroes
may be ' : SR o
. . -.‘L-CC!E __.;/zdllwl{u:}‘»dl:_.}'ﬁ —l/a'éugg x3 + ax? + bx + ¢l
Q) b-a¥l (@ b-a-1 () a-b+1 (& a-b-1-
62.  Ifthe sum of the roots of the equation 1 1

+——- = Lis zero, then the product of the

roots of the equation. x+a x+b ¢

et L
PSR UL = el
2 2 2 2 i 2
o o ) e 2 @ (0]
2 i o 2
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63. For what value of £, do the equations 3(k 1) X+ 4y 24 and 15x + 20y = S(k +13)
have infinite solutions? -
LSSV 155+ 209 = 8(k+ 13)s3(k~ 1) x +4y =24 bl 3 S &
w 1 @ 2 @3y 3 | (4)'4
64. If an ordered pair sat1sfymg the equations 2x — 3y = 18 and 4x —y = 16 also satlsﬁes
the equation 5x — -py—23=90 then the valueof ‘p’=__
13221 G- 6JF4Y dx—y =16 1 25— 3y = 182 ~(Ordered Pair) 1122 f]
S e S se—py—23=0
a1 Q) 2 (3) -1 @) -2 ‘
65.  Value.of ‘x’ from the equations 2¥+” = %> _ V32 .
4jd/‘xf¢; Y Z 95V o 37 e sl
' - 5 . 3
®m o @ = ® 5; @ I
66.  Assertion: The pair of equations y = 0 and y = —8 has no common solution.

Reason: - The line y = mx, (m eR) is passing through the origin.

Now, choose the correct answer.

(1) - Both Assertion and Reason are true and Reason supports the Assertion.’
(2)  Both Assertion and Reason are true, but Reason does not supports the Assertion.
(3)  Assertion is true, but Reason is false. :

(4) - Assertion is false, but Reason is true.

-au’U’J/G:@y——Eﬁ sly=0 d}i()(»..«bl/ bl
..r'_djfc..bw (meR) cy mxks @ o

- ;..,ls‘!&.,ff{c;JJ;JM

Y L~J oot ;u:fu”u) Lol (1)
e d/uf’,"v b el e Do st et (2)

| K e Dl (3)
J:l.o:?sﬂ;f%.u,.dl(‘lnf’ Y

4
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67 ‘IfA tan21° - tan19° B= 2 cot71° - cot69° then . ‘
B . <* B =2 cot71° - cot69° z‘A=tan21°_‘-ta1.119°/’/l
1). 24=B (@) 2A=3B (3 A=2B (9 A=B

68.  sinf=0.908=> cos(90-0)= S |

(1) 0908 @) 0092 - (3) 59.092 @ 1

69. f x=2sin® @,y = 2cos> 9+1 then which of the followmg is true?

' _gu;uufa.u*w./u y=2cos?f+1«x= 2511126’/ _
(1) x-y=1 @ xty=2 @) wty=3 @ R+P=3
70. If\[-4+x/:16005ec48+s1n 6 = Acose09+Bsm9 thenthevalueof-——
(here 0° < 8 <90°). . '
de/ ‘%.': - \[4+ 8+16coscc4f9+sm g= AcosecH+Bsm9/r_
. . | (0°<9< 90°)J L,f.
- -1 @ 2 3 =2 4 1
” 71.. cos22°‘+cosz4°+cosz6°+...+cos290°= - ,
(1 23 2 22 .3 1 4 0
72. Ifcose =%andsinﬂ =—1-then the value of o + B = .
(0° £ & <90°, 0°<B<90°) .
1.7
(0° < @ 90° , 0° < B < 90°) uwu:d’aw..f Slnﬁ“—ul cosa=— i
(1) 60° 2) 90° (3) 45° g 4 30°
73. Ifx= 10080 ihon 22~
1+cosf I-x
2x_ _ .= 1—cost9ﬁ
1-x2 <7 Vi+cosd
(1) sind 2) cosd 3) cotd (4 tand

. V-Maths | ~ 14E
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~74.  Solve x= 11 XE2
' ’ 2- 1 '
7.
2—-x
x=: 1 X 2 E‘LSJV
2-——
R
2—x
a4 @ 3 G =2 @ 1
75, Ifsingand cosa are the roots of the equation ax? + bx + ¢ = 0 then 52 =
' BR=_ Ut + bx + ¢ = 0 el cosa slsina Sl
() E+2ac (@) dPrac (3) a+2ac (4 Ftac
76.  Find the quédratic equation, ifx = \/5 +5++/5+..0 and x is a real number.
' ..’éf;pl”cablw&u_»ug? x= \jS +45+4/5+..0 Jalc‘:.wd'?ug ‘x’
(1) x2-x-5=0 | () x2+x-5=0
(@) x-x+5=0 @) xZ+x+5=0
77.  The values of ‘%’ for w_hich the roots of quadratic equation x2 + 4x + k& = 0 are real.
_ujz.ﬁ(jf?g_yé +4x+k=0 a’:b&z}:}icﬁg)u.ﬁd(é‘k’
(1) k24 @ k<4 (3. k24 @ k<-4
78.  The pole of 9 m high casts a shadow 3./3 mlong on the ground, then the Sun’s éleyation
is - . S
)'/::r”jﬁ'-f’/)}’t:»”?-t‘bdd VL—J}f 33 4(_)’1) L»":gu%9
(1) 60° - (2) 45° (3)  30° @) - 90°
79. - How many multiples of 5 are there in between 33 and 3727

9ufu.5lﬂ'lZZ,SUQ‘JJA:372J:I33J!M
(1) 66 2 63 (3) 68 @ 67

V-Maths 15-E
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. One of the values of ‘X’ wh1ch satlsﬁes the equation ,f 1}

8l

Find the length of the longest side of the. trlangle formed by the line 3x + 4y = 12
with the co-ordinate axes. :

d:b(é:al*/.c;_./K.-’:,-iﬁ‘db&';.c..u»fhb,&.bﬁgﬂ 3x +dy=12

an 9 . @ 16 3 5 @ 7

V-Maths | | 16-E
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80
(Wherex %3 and x # 0.
- : JM.(J‘ ’dbd_/‘/u“b‘[ / } bl/’ e
. . ., | o A (x¢3131x¢0ub?)
w22 B ",—3_ @ 4
Find the sum of the series | | . S e
1+(1+2)+(1+2+3)+(1+2+3+4)+ +(1+2+3+ . +20) ‘
(1) - 1470 @ 1540 (3 16100 (4 1370
82, If 1+3+5+... upto » terms — ¢ then the value of ‘»’ is
: 2+5+48+... upto 8 terms '
) ' uJJn....f 1+3+5+.. Sin =9ﬁ
, CoL | , 2+5+8+... S7E
a 30 @ 28 .(3) 25 . @) 35
83. Ifthe m™ term of an AP 1s L and P term 1s L then the (mn)th term is |
u(ub(mn)!:’ u'/ub J:f—d/ul:‘m’l{AP..f/_ :
‘ : 1 1
®» o @ 1 @ @ Hmn)
| 84. Find the slope of the line Jommg the p01nts(10g2,10g3 )and (10g2 log} )
| o3 Sisibisd_thd” (log2 Jlog} )JJ] (1og§,log§7') b
1) log2 @ 1 3) 2 @ 0
- 85.
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86. If(2,4)is the m1d—p01nt of the line-segment j joining (6, 3) and (a, 5) then the value of
alS
| J,GJ o (2, 4)&&1{»;&3'41,2_1&{ @ 5416, 3)5@--
) @ 4 3) . 4 4 =2 ‘
87. InAABC, MN // BC, the area of quadrilateral MBCN = 130 sq.cm. If AN: NC 4:5
 then the area of AMAN is sq.cm. : :
/6 AMANZAN :NC =4 s ./d;BOMMBCNd“ twlMN//BC «J-AABC.
| -/’c‘i/
, B _ o
1 32 . (2) 45 ° (3) 36 @ 39
88. InAABC, if /B = 90°, BD is altltude on ACand AB=¢,BC=4,AC=5,BD=p
then
+#BD = prAC bBC= acAB—cuf BD Cwﬂuffi AC: /B= 90°/ IWAABC
A
b
c D
p
B a c
111 11
O Faty @ T
1 1 1 I 1 1
O a=ate @ prata
- V-Maths
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89.

If the ratio of the corresponding medians of two similar triangles is 2:3 and the area

of the smaller triangle is 48 cm?, then find the area of the larger triangle.

(1) 108cm? (2) 72cm? (3) 9em? (4 144em? _
-épl’aw_,w_.w/d/cts,uK_,«L«A,,w’mz 3wJuyw,)u£uwﬂru»

S @ STr% ) ST O ,TUr10s (1)

90,

Froma point ‘P’ whlch is at a distance of 5 cm from the centre ‘O’ of a circle of radius

3¢m, the pair of tangents PA and PB drawnto the circle. Then the area of the quadrllateral

PAOBis __ ‘em?
JlPAdu’ JJVJ/(..AJ:..‘P’ MJJ?:"/U'J»/"SL‘O’/&L;/FJLIJ/”M/3
_/C’;/ B .:JKPAOBJ'%_;_Z& PB

12 @ 20 3) s @ 25

91.

In the figure, PA and PB are tangents of a circle with cent‘ré ‘O’ from a point ‘P* and
ZAPB = 60°. What is the value of ZAOB?

3§ /AOBIn LAPB = 60 £2550 bl oSy O P szu‘l/PB R I

(1) 90° (2) . 100° (3) 120° (4) 60°
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2.

If the sides of a right triangle are x, 3x + 3 and 3x + 4 then the value of x is
J.A’J X’ #v-3x+ 4 ol 3x + 3 ¢ x CLUUILJ,;:’)'F

@M 9 | @ 8 G 7 @ 6

93.

| Five cubes, each of edge 2 cm, are _]omed end to end. What is the total surface area of

the resulting cuboid in cm? ?

| érkfu'/d/;;(i’fw_afam,z_c)m U’LLL;();"CSLIJ/Z WLy
1) 88 @ 4 3) 60, @ 56

94.

A cone of height 24 ¢m and base radius 6 cm is made up of modelling clay A child
reshapes it in'the form of a sphere. Find the radius of the sphere.

(1) 8cm : - - () 6cm

(3 9em ' 4 12cm
) ._,d;&u,/%'u_z._f _u*/6 )u_wﬁ.xm,f/m gkl u’ Lcbs L ;-_u’g‘

..ér:l”'/"..wb/d{’d;/ ~
6 (2) o o S8 M
12 @ ' S A9 (3)

95..

w9 L e L 4 L

All face cards are removed from a deck of cards of 52 and one. card is taken randomly

~ from remaining cards.- What is the probability of getting a black ace?

e 0s UGz, f”ﬂaUﬁUf;fizﬁbﬂ)beﬁLﬂCer_ufu:’éu't‘SIZ
' ..Zp""u’ LKL s L0y

1. | 1

26 40 20

. 96.

The probability of an event ‘B’ is a number such that
' | | z,)mc_mJ iUGK- E’,.a’l;._f

M o<P@<1 @ osp®=1

() O0<PE)<1 @ o<P®<I
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- Ifa number ¥ is chosen randomly from the numbers 1, 2, 3, 4 and another number

100.

97.
' ‘y’ is selected randomly from the numbers 1, 4, 9, 16. Then match the probab111t1es of
the following.
o) /ua.u‘ 16 9 1@)%::.%»&# el Myr-.u*zt 3 2 <1t
' -c.ﬁ;fﬁubt’d:my.u/u/u‘f’f
p Rw<h= A 3
qQ . Phoy<d= B
o S .16
r) Py <9)= : | ©) 2
) Pp<16)= | d o .
Now, choose the correct answer. | | | |
- | _iuwmvi:l
1) p-oagqobrocs—>d (@) pod q—-)c r—>bs—>a
3) p-oaq-brods—c 4 p—cq—dr—as—b
98. Thetotal surfaceareaofasolid hemisphereis 1 08 cm2. The volume of the hemisphere is
cm3. . | . _ -
s RS T 1085 O 6 S adub g
(1) 1441 (2) 546 ‘@3 T @) 1086
99. Ifthe mean ofx and — is M, then the mean of x3 and -1— =
x X
L/’J’K——J}'x:’u_/f M’ L/Jfl( sx ’ﬁ !
. ‘ . . . ‘ M2
(n w3 (2) M3+3 (3) M(4M2-3) (4) ——2—— :
The mean and median of the data a, b and ¢ are respectively 50 and 35, where a<hbh<ec.

Ifc—a=55thenb-—a= .
b—a= c—a= 55/a<b<cub?U‘BSJJISOw/L,flb»-JJJiLf'JiKCJ:! a, b' '
1 8 @ 7 3) 5 ) 3 |
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101.

PART - 111 : PHYSICAL SCIENCES

If A, B C are under thermal contact then in whlch of the followmg condltlon heat

will be transferred from A to both B and C.

(1)  Temperature of A, B are less than C (2) Temperature of A, B are more < than C

(3) = Temperature of B, C are less than A (4)  Temperature of B, C are more than A -

_J/_bu"d'l/u*u:’:JCJJIBc:.Aqufu*Jb(//au*J;C;J::’YU"'JVJJIJCJ;’B:A/
simmlie CURSBA () (nfecifBA ()
(Lnnlic AGESCB @) (infendifcB @)

102.

Material
Specific heat in cal/g-°C

A B | ¢ D
0095 | 0.115 0.21 0.031

‘From the above table which one of the material has more reluctance towards change .

in temperature

.S

D o B A
~0.031 0.21 0.115 0.095 |cal/g-°C(féeit”
~¢- b/ Reluctance)e b #UESEE e bt rig Wz

1 A (2) B 3) ¢ 4 D ~

103.

Dogs panting on hot days the basic physical phenomena in it is .
Melting

(D) Evaporatloa (2)  Condensation(3) Freezing 4)
: uf(b/'d;ﬂd;L—U?:’U“qu‘c’_béu*u:’;r/

-
¢

(4)

104.

S 3) @) A )
1 calorie is equal to |

Joules. T - _
| _4‘:_6:(,_/2_/.‘).’? JJ)‘:.’(I
(1) 4.186x10° (2) 41.86x 103 (3) . 4.186 ' 4y 418.6x103 -

105.

The heat energy required to change 10 g of ice at —10°C into water vapour at 100°C
is (at 1 atmospheric pressure)

(1) 7250 calorijes (2) 7250 K calories
(3) 9250 calories (4) 9250 K calories
GUJUJF/"JEQA.L&_/U'MJ(Water Vapour)e i3 T,100°C/ e J 10»7:«'/ ~10°C
' i (/:L:rf_lr'a/ 1)- d/f (Heat Energy)
SE 7250 (@) s |
G Eos0 @ & 9250 (3)
V-Phy.Sciences 21-E
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B 106. The value of latent heat of vaporisation of water is :
(1) - 540 calories/gm " 2) 540K calorles/grarn
(3) 80 calories/gm _ (4 80K calories/gm . |
e B u’J (Latent heat of vaporlsatlon of water)...ul/”'d; d/ul/lf/:dl,
' 540 Kcalorleslgram @ ' ' 540 calories/gm . (1) .
80K calones/gm (4 - 80 calorles/gm (3)
107. Thev131ble colourpartofeyels . |
() “comea - @ s . (B . retina (4) ueous humor
@m0 (Comea).// o
(Aqueous Humor),.ﬂ.:f.)’; @ 7 {Retina)s  (3)

108. Real images are always . |
(1) canbe traced on screen, erected (2) can’t be traced on screen, erected
(3)  can be traced on screen, inverted (4) can’t be traced on screen, inverted

SR EYyEn S
PN ogesqectntlon () :_LﬁWJ’wuxcf_wwy (1_).

P ogespeatns () c,tﬁw‘)‘w@/@wwﬁ*

109. Mirages formed due to . : _
(1) Dew . (2) . Fog-

(3)  Total internal reflection 4) Scatterlng
. _u”d..LJ‘.'.o c:.,xu’( (erages)u /
Fog)d @) e O
(Scattering), &5~ (4) _ 1 J K*”Jp 'JUb/ (3)

110.

Which Ietter represents angle of deviation in the above diagram?
m - (2) LandN 3 M 4 P

_r_l': dj- Vd/ (Angle of deviation)$ ﬂ.dbe.:/ L«'fu’" (:-loUL)JM
P 4 - . M (3 NstL | (2) K ‘(1)
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111.

1y \u | A
> ‘
iy
F\‘”J o
H3 l R
' c

Refractive indices of A, B, C are py, W, pg respectively. L1 = £2, £3 > /4, then
which of the following relation is correct? '

e S SUEL3 > L4 L1 = 22 -ty pgy tae AWSSIL A, B, C

: -‘LMJ)
1) py=pg, By =g () W=, Hy <3

() W=pp < 4) W=, pua<py

112,

An object is placed at 20 cm before a biconvex lens having focal length of 10 cm. Then it’s
image formed . from the lens. :
(I)  atl0cm (2)  between 10 cm and 20 cm
(3) at20cm B (4) beyond 20 cm :
. By Kéf_éi@a 6E 208 T s itlnnd P10
el 2010 (2) | | 2710 (D)
(&bnlfe 20 @) 420 (3)

o113,

A glass slab of thickness of ‘t’ and having refractive index as ‘p’. If it is kept in the
path of light ray. Then the shift (Ax) of ray is

Jﬁd/ ¢ W{nglagu: Ez.fJL'C Wd/ LﬁJfLM/ J:)’»f’ug;. b, VSt ald s (j st
' e . ={(shift) Ax

H

0 ) @ (- e wn @ wey

y7;

114,

The power of a convex lens of focal length 50 cm is D. : _
' ..J,_n' | D (Power of Lens)=3lb c;ﬁicﬁ‘:,ﬁ;,«;«fi_'bdﬂ’f 50
R . _ 1

1 5 (2) 50 32 @ 3

115.

Which one of the following will haye the choice to be the wave lehg’r'h of violet
colour in VIBGVOR? '

| _u“’/u...«L;'-'-,{:":LfﬁPﬁﬁ'x:"d?ﬁu@(violet)u@‘cﬁWibgvor)u:(c..u'.fJ”;‘,?;p
(1) 7900A (2) 6000A.  (3) 48004 @) 40004

V-Phy.Sciences _ 23-E
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116. The _image of OO' forms 0 A _
(1)  At2F, 1
(2) Ath . TO:' —e — .
~ (3) . BetweenFy, 2F, : 2Fy Ry F, 2F;
(4 Beyond 2F, o | \ | .
. : 0" _- 1\ - _fn'dllq | | J?(OO'
- T ] | 4 2R,
1 -— | (B, @
.2F Ry F2 " 2R
- uL»J;Lze #EFy  (3)
_V' Lo J:).»;.ZF.Z (4)
117. ZQ 3Q, 4Q) are connected in series then the resultant re31stance is
= /J;w qu,u*u”dm(Senes)%(-wm 30 20 /LJJ»JJW /u’
- B NARAS
1 10 @) - 9Q 3) EQ. @ =0
- : ' 13 12
118 . SI unit of Electric Current (i)is __* . .
(1) Ampere - (2) Ohm (3) Volt (4) Hertz
N ‘e 3¢S0 ()(Blectric Current)ss (i
(Ohm)st ~ (2) (Ampere) 4 (1)
(Hert2)?r (4 C(Voltds  (3)°

119 Whlch of followmg represents ohmics in graphs?

AT (Ohmlcs)rl/l.-(:’(...ﬂ/ )(“/uf;u‘wa:

ORI @
vV—
. 3) T @ 1
V— _ V—
24-E
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120. ~ The resistance of a conducting wire is R. What will be the resistance if it’s length 18
doubled and area of cross section is halved?
...J!'LIJ /JJI ¥y l/é./ (2 l},@)&d»{f 977 Lr(J}U)bLJ; 3"0)/ LDJ >R
(1) 4R o) %R 3 =R | (4) | %R
121. Electric Power (P) = .
| =P, (Electric Power)=3b (3.
V2L V2P I’R 2
. — 2 3 - 4 IR
n = 0 = o T
122. Tesla means '
, 8 L Tesla
o Wb Wb - -
n = @ Wbm® (3 — 4) Wb-m
m m : .
123.  Which of the following is not an application of F araday’s law.
(1) Incandescentbulb (2) ATM card
(3) Head in Tape recorder " (4) Induction stove
-~ JEO Ubigy s 6L (Faraday's)a.jl/é e e (J: it
WEIG () hegrt (1)
Weos @) Shuslaz  G3)
124. Magnetic field force on a charge, 'moving parallel to the magnetic field (8 = 0)
1 1 . ) 3 -1 ~ (4) Infinite
by /ftw/u!yu"b LWJLd/.«‘_bd_/ur/" ©=0 (Parallel)dﬂf’d:ufyu’:b b
TV 2| B G Y -1 (3) 0 @ 1 (1) '
125. The enlarged form of rms (In Electromagnetlsm) |
| - _ f & :U/ rmsJs (EIectromagneUsm)wJ’LMd/
(1)  right mid square (2)  rootmid square
(3)  right mean square" (4). root mean square

V-Phy.Sciences  25E
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126. Read the following and choose correct option. Select common properties for both
Acid and base from the following. o '
a) Reaction with metals produce Hydrogen gas.
~b)  Reaction with metal Carbonates produce Carbon dioxide gas.
c) Conduct electricity in aqueous state. L
d)  :Colour will change with phenolphthalein indicator.
(1) only (c) is correct (2 (a), (b) are correct
(3) (), (c) are correct . : (4) (), (b), (c), (d) are cogrect

-U:/&:%f@k’r‘%//“'&:iujuqt'wl}}au’:djz.ﬂ,{_.q/vg.lgvm "JJ’L]-'?Z:O:}ZW;
| T ke JoALoln G
tﬁ&fﬁ/f?uﬁjijw e JUAL 2K Qs (b

R St ed’ (e

S %L Phenolphthaleip) o2 & (4

tEuin®) @ @ RPN A ST
G @@O@ . @ . guke@ 6

127. Which of the fqlloWing will produce acidic salt on n.eutr'alization with HySOy.
| K S S P (N eutralization)) bjd; s H,SOy eSS 520
(1) HC ~(2) CH3COOH (3) HNO; (4)” Mg(OH),

128. On adding few drops of universal indicator to three unknown colourless solutions
(X), (Y) and (Z) taken separately in three test tubes. Tulasi observed that the
changes in colour as green in (X), red in (Y) and blue in (Z). The decreasing order
of pH of the taken solutions is |

g &S e Piz L(Universal Indicator) P L}"GTufZJ:erXUJJyV.ﬁﬂ,_ nﬁr}”‘ Lu{
d:?JpHJuﬁﬁzéJ-zﬁJhiufuééi ZJJIf,/ufYr/'.’quJ/k(anL’?L(Tulasi)OJ -
1) X>Y>Z @) Y>Z>X () Y>X>Z @) Z>X>Y

129. Identify the incorrect statement from the following. |
- (1)  Universal indicator is used to know the strength of acid or base.
(2)  AsthepH value increases from 7 to 14, concentration of [I1*] ions in the solution
increases. _ .
(3) - Higher the hydronium ion concentration lower the pH value.
(4)  pH value of a solution is less than 7, it is acidic in nature.

_ -LJ..J/OIJ:&)JU.L!‘WLLJ:J.J.@JJ o
e b L2 b UDE 5 (Universal Indicator) A 36T (1) .
Gl AL Ut HY s3It 146 T U A SpH (@) .
S pHe SN L U, ()
et §7 M (7.0 pH Jﬁo} OF
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130.

Find the wave Iength of a photon in nano meters with energy of 3 x 10712 erg.
(h=6.6256 x 1027 erg-sec; C =3 x 108 m/s).

-3x10712 erg, dLUJJ? -éf:l” *nano meters 4.9 G bE (photon)/t#
. (h=6.6256 x 10-27 erg-sec; C =3 x 108 m/s).
). 662 . (2 662 - (3) 1324 (4 662

131.

Choose the correct set of quantum numbers of the dlfferentlatmg electron of a
neutral calcium atom.

- /._Jli'lﬁ.w (’f Klﬁldﬂ lyu” la&( (leferent1at1ng Electron)ui/f Jféfﬁfu UL p’...f

1 .
(1) n=4,l;0,mLxl,msé+‘5 . (2) n:4’l=0’mL=0’ms=__

3) n=4I=0m =0m=0 @ ,,:4,1:1,,,,5:0,,,,5:_%

132.

Which of the followmg pair is not containing equal number of electrons?

' _¢J/65L/JIMJUJI/IU’4_J,?J(:..JJJJJM

1 N5,07 (@ NahCt  (3) AP @ Mg o0r

133,

The electronic configuration of an ion A% i 2, 8, 14 If its mass number is 56, the
number of neutrons in its nucleus are

:Iﬂd/ul/r:iru‘;/g'ﬁdfjﬂg 562405 Kuwfa_ 148 2IF G Sons A2
o 32 @ 42 3) 30 @ 56

134.

Three clements P, Q and R have atomicnumbers Z, Z—1 and Z +2 reépectively. Pis the
noble gas. The formula of compound formed between Q and R will be

JWLRJ;IQ_.:_J"/(J:J)HJJ P Z+28Z-1 Zis Plss 2 RNQ P Lot
...Ky' | (Jf)b),bb{u‘g'Lbé_—J’Jp b

O R @ . RQ; 3) R #) QRs

135.

Which of the following metal was not placed in the eighth group of the modified
Mendeleev’s periodic table?

(1)  Sodium (2) - Nickel (3) Platinum (4) Iron ,
_L,fl;u‘” o ._A/(u’ # f&dswdjmyd' JVL;\-GJMJ('.'_‘«L’JJ/ e Uk J REY
NZEC) Ao o 0

V-Phy.Sciences | 27-E
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136. How many of the followmg statements are not true regardmg long form of perlodlc
' table? _
-a) “Phosphorus is the only non metal in ISth group.
b) Elements in I group are metallic in nature.
<) The metal present in Chalcogen family is Tellurlum
d) Halogen group is the only group in the per10d1c table (Iong form) without. any
. metal present in. it.

, _u“ Sl h../»ul.b:"_/c.u‘ J JZ/JJJL!» L(Long forrn of Penodlc Table)d»wdwfd’ #
_c..u’J:"‘b._aLm/wlsJuj/(u’ﬂS : (a.
O Y P
_LTellunum e lonz ik la(Chalcogen)u? :G o (c
..:;.uﬂ f:"u(ﬂ’)d:(f‘ J> -c_...«:/‘:wlmgd:pdw/() )’u:/r (Halogen)gf :JL . (d
(1). 1 (2) - (3) -3 4 4
137. The elements A, B, C D and E having atomic numbers 9, 10, 11, 12 and 17
' respectively, then the I 1ncreasmg order of atomic radii is

(Atomic radi)) g Fidfr I 1725112 11 10 9 /Lmd;fLE J)'D :c B cA/‘V
() B<A<E<D<C : (2) ‘B<A<E<C<D
(3) A<B<C<E<D 4 B<A<C<E<D

- 138. Number of elements present in the sécond period of modern peuodlc table |

oo ' ;wo’/wm* e (2“d)¢. /JJ:CJJM&J»}'M |
M 2 2 8 3) 18 4) 32

139. Formula of a Metallic oxide is MyO3. The formula of its phosphate will be .
N7 LK s Ll e MyO KIS T kosts”
(1) MPO, ~ (2) MPOy (3) My(POq)3 (9 Ma(POg)

140. What is the covalency of Oxygen atom in water molecule?

" d/f e (Covalency) Sy d//;f‘f:/ TJJ{/L dg ,
Qo200 @ 4 @ 6 4) 8

141, Which of the following is an electron deficient molecule?

~<(Electron deficient molecule))VU’}JJJ‘I/U:{LJJ);JM
(1) NH; (2) BF, (3) C,Hy 4 H,0

V-Phy.Sciences : 28-E
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142. The electronic configurations of four elements A, B, C and D respectively 152 252

| 2p6 3s2 3p5, 152 252 2p6 352, 152 252 2p6 3s! and 1s2 22 2p4 The formulae of
ionic compounds formed between thesé elements are

152 252 2p6 351152 252 2p6 352 152 252 206 352 3p5 /;J:@dl}%/ DsIC B <A Wl

- Lbc'_/..::«y‘j/(ipnic)(}luz'_'b'd:-uy»éul_.r‘_'- 152 252 2p* 19!

(1) CA,AB,, C;D,BD - (2)  CAy,BA,, CD,, BD
(3) GCA,BA,,C,D,BD (4) CA,BA,, C)D,BD
143. Match the following. R
| Ore o Metal
A)  Pyrolusite ' i) Magnesium
B)  Magnetite _ ii) * Sodium
~C)  Lime stone o i)  Tron
D)  Haematite ~ iv)  Calcium
V) Manganese ‘
, _é'.llrj:?d;' RSy
(Metaelsy  (Ore)=led
~a oWl
Gy (i - e B
o7 Gii uHIF (C
< & . skl D
(1) A-(v), B(iii), C-(iv), D-(iii) o '
(2)  A~(ii), B-(i), C-(iv), D-(iii) )
- (3 A-(v), B(i), C(iv), D-(iii)
4)  A-(v), B-(i), C-(ii), D-(iii)
144. Which of the following metal displaces Hydrogen from Cold Water?
(1) Zinc - (2) - Mercury
(3)  Calcium : : (@  Aluminium
o _c_dba;.dLLMfu’uy ...,lmu):(c._u‘(fmzy
v () | . SN
A @ - X (3)

V—Phy.ScienceS 29-E
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145. Arrange the following metals in the increasing order of their reactivity. '
Zinc, Mercury, Gold, Iron, Calcium, Sodium o :
(1) = Gold <Mercury <Iron < Zinc < Calcium < Sodium-
(2)  Gold < Mercury < Iron < Calcium < Zinc < Sodium " -
(3) - Sodium < Calcium < Iron < Zinc < Mercury <@Gold - o
(4) . Gold <Mercury < Zinc <Iron < Calcium < Sodium ' - _
: | __Z;);,_,;}ut_,g)'a.ﬁazéazeacﬁvjty)wx‘*tawau?ijZw |
o e Y T A &l o
i > A% 5 > i >Guly >0 ()
iy > £ > ﬁ‘!-> ysT > d».:.(/ >0 @
W sG> E T > B A )
L >,(.f-‘{‘>,ujf>u6‘>d;xf/ >0 (@)

146. Chc-)ose' thf_.% correct matching from the following. -

i) ,CH4+012_M;>CH3'01+HC1 ) Combustion reaction
D) 'CH3COQH+CZH50H—'ﬁ’“—'H-?~89“——>f - b) Substitution reaction
CH,COOC;H; +H,0 o _:
ii) = C,H;OH +30-2—;->CO'2'+ 3H204Energy ¢) - TFermentation
- iv) CGHHOG -—E-:Z';—?I%S%QC&H;,O'H-FZCOZ . .d) Esteriﬁcz}tion reaction
| | el e Ui 3
Judr @ CH, +Cl, S scpcl+HCl (G
Jui  © | CH,COOH +C,H;,OH —2:880 (i
. CH,COOC;H; +H,0 = < |
J lﬂ"/:’Jf (¢ . C,HsOH+30,——>CO,+3H,0+Energy (iii
‘ J@Uj:?ﬂ’ d . Csleoé ——E:—;%—)ZCZHSOH+2CO; @iv
(1) (@b, (i), (iii)-a, (iv)-d . @ (), (i)-d; (iii)-c, (iv)—b )
3) (@b, (ii)-d, (iii)-a, (iv)-c (4) ()b, (ii)-d; (iii)-c, (iv)-a
147. Which of the following is not an amorphous allotropic form of carbon? ‘
~ (1) Graphite (2) Coal (3) ‘Lamp black (4) - Sugar Charcoal -
_c‘_u.‘.‘; (Ainb_rphous Allotrdpic)_y Q [y d’d J)L')D K(f:f:— - J,’, :,:ww
Sugar Charcoal  (4) Lampblack (3)  © Coal . (2) _ Graphite [

148. Which ofthe following chemical reaction does not take place inside theblast furnace?
—c b Ot % (Blast Furnace) UM}Q’J W ”W./LJ;(:._ g e
(1)  ZnS+30,—2Zn0+280, (2)  Fe,0,+3CO——2Fe+3CO,
(3) CaCO;——Ca0+CO, | (4)  Ca0%Si0,——>CaSiO;
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149. A compound ‘X’ formed by the reaction of alkaline KMnO, with the compound ‘Y’

compound ‘X’ also react with “Y” in presence of con. HySOy.to form a sweet
smelling compound ‘Z’. Then what are ‘X, ‘Y, ‘Z” respectively?

(1)
(2)
- (3)
“)

Ethanoic acid, Ethanal, Ethylacetate
Ethanoic acid, Ethanel, Ethene

Ethanoic acid, Ethanol, Ethylethanoate
Ethanoic acid, Ethene, Ethylethanoate

bz S BSO48X e bl LS fe KMO, X ]
ALY X AT i 2

(Sweet Smelling)db:.’ffﬁ)a'b?cjy’
Cad e S LA B ()

T S S (2)

eI S (JI LA 5 3)

2GS (BT I (4)

150. Choose the correct matching, L
) H.C-CH-C=CH a) Pent-2-yne-1-oic acid
l .
CH, |
iiy H,C-CH,-C=C-COOH b)  4-Methyl Pent-1-yne
CH, |
I : .
iiiy HC=C-CH,-CH- CH, c) Hex-5-ene-2-yne
iv) H,C=CH-CH,-C=C-CH; d) 3-Methyl but-l-yne
. | - x - 1 iR
AL 1-gl-2-2%  (a H,C-CH-C=CH (i
: l
~ CH,
Ub-loes S 4 0  H,C-CH,-C=C-COOH (i
| | CH, |
. | -
uyzqgu54fg c) HC=C-CH,-CH-CH, (iii
-l f B3 d) HC=CH-CH,-C=C-CH, iv)
(1) (@)-d, (i)-a, (iii)-b, (iv)-c 2) (D)4, (iD)-b, (iii)-a, (iv)-c
() (), (ii)-a, (iii)-c, (iv)-b 4) (i), (ii)-a, (iii)-b, (iv)-d
aoooan '

) V-Phy.Sciences
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